Start

The base edge of a square pyramid is
30 cm. The pyramid is 6 cm tall. Find

339.3 cm3

Find the volume.

A prism has a right triangle as its base.
The hypotenuse of the triangle is 10 cm
and one leg of the triangle is 6 cm. The
height of the prism is 7 cm. Find its
volume.
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the volume of the pyramid. Sl Lem
14 cm
2.5¢cm
168 cm3 251.3 cm3
Find the volume. Find the volume.
\ 9.6 cm
18 cm 4cm
4 cm
30 cm? 35 cm?

Find the volume of a cone with a height
of 13 cm and a radius of 5 cm.




585 cm?3 51.2 cm?3

A prism has a pentagonal base. The
area of the pentagon is 45 cm?, the

height of the prism is 13 cm. Find the

-—nd volume of the prism.

1413.7 cm?3 792 cm?3

Find the volume of a cone with a height

Find the volume.
of 9 cm and a diameter of 12 em.

5em

1800 cm?3 340.3 cm3

Find the volume. Find the volume of a rectangular prism

2 ¢m with a width of 9 cm, a length of 11 cm,

and a height of 8 cm.
10 em ‘
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